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great(long, muchd O )as B. (L ) A'is N times greater (longer, more
[J O)than B. (O ) A is N times the size (length, amountd [J )of B. (
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[J.e.g. This book is three times as long as (three times longer
than/three times the length of)thatone. O U O 0O O 0O 0O O O O
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[0 of) B OO OO () increase to n times([1 ) increase n times
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e.g. The production of integrated circuits has been increased to three
times as compared with lastyear. 0 U O OO0 OO0 00O 00O O
[ 0O O e.g. The output of chemical fertilizer has been raised five
times as against 1986. [J [ OO [J [0 198601 O J 00 400 [J 100test e.g.
That can increase metabolic rates by two or three times. I U [J [ [
DO00000020030(@0O010020)0 e.g. Thedrain
voltage has been increased by a factor of four. 1 [0 [ 0O O U 30 (O
DO0000040)0 OO0 0OO0OO O increasel] O raise

1 growl] go/step upd multiplydd O O O O 0O (&) Thereisa
n-fold increase/growth] (U ) O O 0O O 0O O n-0 (0 O O n )
JOo0000o00ododon eg. Arecord high increase in
value of four timeswasreported. 1 0 0D OO0 OO0 OO0O0OO3
0 O () double (0 0O 100 )0 treble(D O 20 ) quadruple(d O 3



)0 (O) e.g. The efficiency of the machines has been more than
trebledorquadrupled. D OO OO0 O OO0O0O2003000 (
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[ 00 0O O O 100test A is as much (largeld longd J )again as B.(= A
Is twice as much (larged longd O )as B.(LJ ) O U O O AQ BO (O
O 0O0000)100 Ais halfas much (largeld longll [ )again as B.
(= Ais one and a half times as much (largel] long [ )as B.)(11)
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